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Atx = =2, g(x) is continuous (since it
is a left endpoint))
Atx = =1, g(x) is discontinuous

Atx = 0,g(x) is left continuous
At x = 1, g(x) is right continuous
Atx = 2, g(x) is discontinuous
13 flx)=x+2

17 k=8
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% v il MATH 101
University of jeddah Chapter 2

Section | Question no. Solution

| y=3x-1

2.1 3 y=8x—13

11 (a)y' =2x -3

d
(b}a}':Zx—B

1
y=E{x—3}+3

g'(t) = 22t*! forallt e R

Lo
y’=—3x i, x ER - {0}

F'(x)=—-x"2

F'(x)=13-30x
-
(x* + 5x)*

2
fr(t} :m

B | 1 1
flir)= -12rt-8r+1 —?_z_r_g_ 30—

I
The tangent equation: vy = —2x +7

. . 1 .
I'he normal equation: y = =¥ 2

y' = 12(2x + 3)°
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24 g , 3x
i
7 12
Y T G-
R , 6t
y o ——n
(1 - 2¢2)/2
3 y' = —3sin3x
5 y' = m sec’(mx)
7 y' = 3cscé(4 — 3x)
11 y' = 2mx cos(mx®)
2.5 13 ) sinx
Y T itcesx
15 y' = —(1 + cos x) sin(x + sin x)
29 P |
y = 1+ cosx
31 y' = 2x cos(3x) — 3x* sin(3x)
26 1 y = —14(3 - 2x)°

y'" = 168(3 — 2x)3
y" = —1680 (3 — 2x)*
g y' = sec’x
y' = 2sec® xtanx
y"' = 4sec®x tan’® x + 2 sec*x

8 Exampled Ja i
28 § palaall 4
9 fix) is increasing at (0, c0)

f{x) is decreasing at (—oo, 0)
11 fix) is increasing at (—oo, —4) U (0, o)
fix) is decreasing at (—4,0)

2.9 1 dy 1-y
dx _ x+2
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